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11A 18 VIIIA
1 1.0079 2 4.0025
, . g . . .
H (Mendeleev’s) Periodic Table of Chemical Elements via TikZ He
Hydrogen 2 lIA 13 1A 14 IVA 15 VA 16 VIA 17 VIIA Helium
5 10.811 | 6 12.011 | 7 14.007 | 8 15.999 |9 18.998 | 10 20.180
B C N (0] F Ne
Boron Carbon Nitrogen Oxygen Flourine Neon
13 26982 |14 28086 |15 30974 |16 32065 |17 35453 [18  39.948
Al P S Cl Ar
1A 4 IVB 5 VB 6 VIB 7 VIIB 8VIIB 9VIIB 10 VIIB 11 1B 12 11B Aluminium Phosphorus Sulphur @irie Argon
21 4495 |22 47867 |23 50942 |24 51996 |25 54938 [26 55845 |27 58933 [28 58693 |29 63546 |30 6530 [31  69.723 |32 7264 |33 74922 |34 7896 |35  79.004 |36 838
Sc Ti \' Cr Mn Fe Co Ni Cu Zn Ga Ge As Se Br Kr
Scandium Titanium Vanadium Chromium Manganese Iron Cobalt Nickel Copper Zinc Gallium Germanium Arsenic Selenium Bromine Krypton
30 88906 |40 01224 |41 92006 [42  95.94 |43 9 |44 10107 |45 10201 |46 10642 |47  107.87 48 11241 |49 11482 |50 11871 |51 12176 [52 1276 |53 1269 |54 13129
Y Zr Nb Mo Tc Ru Rh Pd Ag Cd In Sn Sb Te | Xe
Yttrium Zirconium Niobium i i Rhodium Palladium Silver Cadmium Indium Tin Antimony Tellurium lodine Xenon
57-71 72 .iw.%: 73-...180.95 |74 18384 | 75 186.21 | 76 190.23 | 77 19222 | 78 195.08 | 79 196.97 | 80 200.59 | 81 20438 | 82 2072 | 83 208.98 | 84 209 | 85 210 | 86 222
‘La-Lu Hf Ta W Re Ir Pt Au Hg TI Pb Bi Po At Rn
_yw.z.nrmzr_m Halfnium Tantalum Tungsten Rhenium - -lridium . Platinum Gold Mercury Thallium Lead Bismuth Polonium Astatine Radon
80-103 104 Ger 107 264 | 108 277 | 109 268 | 110 111280 | 112 285 | 113 284 | 114 289 | 115 288 | 116 203 | 117 202 | 118 204
Ac-Lr Rf Mt Rg Uub | Yut.. . Uup Uus Uuo
Rutherfordium Dubnium Seaborgium Bohrium itneriu D: i R i Ununbium Ununtrium " Ui L i Ununoctium
[T Alkaline Earth Metal LI T
D vtem 57 13891 |58 14012 |59 14001 | 60.. 14424 | 61 145 [62 15036 |63 15196 (64  157.25 |65 " 15803 |66 16250-{.67. 16493 | 68 16726 70 17304 |71 17497
etal
[ Metal La Ce Pr Nd Pm- Eu Tb Dy
] Non-metal . ~ LK A . .
[ Halogen Lanthanum Cerium & F i i Europium Terbium Dysprosium
] Noble Gas
[ Lanthanide/Actinide
2 mass | se 27 |90 23204 [91 23104 |92 23803 |93 237 | 04 244 | 95 243 | 96 27 | 97 247 | 98 251 |96 22 | 100 257 | 101 258
man-
Symbol @ Ac Th Pa U Np Pu Am Cm Cf Es [Fom -Md.
Name : Actinium Thorium Protactinium Uranium Neptunium Plutonium Americium Curium Berkeli Californi i ini Fermium Mendelevium
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print (m)
print (a)
print (F)

print ("theyforcey=y" ,F,"yNewten")
:sﬂwsmL;ﬁuv@uffmwyg@cﬁujgwwoiu&;ﬁzﬁmwxw

from math import

m = float (input (" write mg her"))
a = float (input (" writeygagher"))
F = m,a

print (" Forcey=y" ,F)

J! ;,:S.i V';) ) s o~ %;<.5 float oluiles (S s fw\ o Al input bease) 5L Jd) L”;
.(\_xs;:,ﬂvd JB Ed sue
Loluod) llan

Hadlly pally o dally masl & Lol g LIl oSS dplusd) Sllenl)

from math import

a+b
a—b
a*b
alb
e S Yy colais BU) 55 % SISy (B i) Gl g o) 5 gy [] B3] 5o il 2l

4\1,«.:3) J,:&:Aj’ o %;JLJ 9.”.5' = Z\A.:EJ\ E)ulj == %;}L..g E)Lil o BNERRN Qi 29

import math from

a = 9//2
b = 9%2
c = 4,,2

print(a , b ,c)

. =16 Loy b=1 Loy a=4 L3 S

OYslead) LS

F=mxa 138 S F=ma JW) 558 oy6

r=vo*t+0.5xaxtxx2 |iSa = ac:vot-‘,-%cn‘2 L) Sl (s

e dly o e e ST sl S5 o lass Yy gl (S

from math import
a , b , ¢ =3 ,2 ,9

. c=9 9 b=2 9 a=3 L;.&sj
:sz,é-‘\ﬂ Lol ) bkl 2

tan log

asin | 10log

sinh | exp
sqrt sin
pi cos
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P i 0 Ol D> elas] i ol el A3 (3 8k s elasly T

def f(m,a):

print (mga)

£¢3.4)

i Ly Do) ot 55 ol fiady (i ol (51) DN gl o3 Bilns Ly def o Sy 850 Losls s DY)
Y S bl gay gl sl 85 e WY Ut LI Jlead) 3 3 e e g (S
LSy ¢ enter Jus¥) 5 e 55 o (1) el el ey Wiy (s V1 Zu3lod) ¢ lesS” ol jpa) oSS
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Vi=Votat Jo¥) i) o556

def vf(v0,a,t):
print (vO+a,t)

vf(2,5,20)

o from S ol & A S calge Llanlly math e 5l 2l gl v=+/2%g*h dslee & el RS
L) 215 3 sl bl Ll s IMPOTE oy Zasndll) ool b imn iy ey IMPOTE o5 Zajoel) ol
Sl &lpnall 31 gy 5 V1S s of mY  math Bl 3 s3pl B S Y e

1lads oyy Lo sy ;j Job= 10 azlays

from math import

*
def vg(h):

g = 9.81

print ("%.2f"% math.sqrt(Z*g*h))
vg (99)

o i ) (ol gl ol 18] e 207 Y1y st el plsnd ga gLl Jll 5 s
Ize) Sagy ¢ 0f Jao oS5 dlol) dmy b S Oy gy 13) Ll (1iSoay B oS5 lls 3 Uyl 13y cJais
b Cdod d (e 3 (g il sl LS & S o g g il Bl Bl LS € S f S

1147 2ol an
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def speed(vg,h):
g = 9.81
if vg ==""
print ("%.2f"% math.sqrt(2,g,h))
elif h =="'"
print ("%.2f" % (Vg 442/(2,8)))
speed ("' ,99)
speed (50, ' ")

L)W 3l s ol BLoVL (g sVl de ) Lang h g Vg ppine Jo sy 2l Dgiid) B Ol 56
h g vg Les cpine e sy speed Lgews! DI 1o Dlall o) (sl (o Dlinal) mn anias o 6 Yy g
Dygomr 17 (Sols ¢ DI pitsizanall 15 o 8llanall VE ) B3 1S 130y ¢ 9.81 wragdy 8 dael ol drg
13 Ll (s sl Jl abls 2ol e (o Dol oS 131y I Aslead) Ba plisinly Dol ably ol
speed(’ 1,99) S5 A plaszny 151 ) B Al plasial sl ably e Jpgoes B g LY Ol

Jsgmes CL&JJY\ o813 speed(50," ) 5 (Aggaes depd) cslS7 13



Wy dpy Al L) 3 Lss Slineyy cplsan N Bal clid ol e gy 3l 4556 o hphysics
s o ol ST s S
sourceforge.net/projects/hphysics/ files/

'r\.&o’w\“ a4

ZA.JU\ j)a!\.: \.@.AUNJ (..u) M..;LJJ.“ J;L«wJ\ o 4‘;}‘"’“ J:J J",f\ QSJ& 4.5\‘..!\ sz»u

Jslake ad Lados (sl gl oes & hphysics.py isSed) Cike Loi> o

save hphysics.py in any folder

T Woeed asens )i

C:\Users\username\AppData\Local\Programs\Python\Python36

IDEL 5 ool aans Uiy « hphysics mea Caloll gl 0 BISEEY LI TR RESNEY

from hphysics import * :J;V\g LS EYYEIN]

create new python file, then write ” from hphysics import x»

J}.@:_;»J\ 05 UPY cQL_JmuJ\: L@.:: P hl(f,m,a) J;,o cadls C..M:} cu).Ua.J\ Qj.:\.aj\ PR A.JU\ J.U\.: J:J\ s 3 ) gamd
uj\:.!\ Jju\ar.“ o JUJJ\ eloes) Aﬁju Ug“’i} cJ}w M\ |da d‘ A)g\ stu_ Lﬁ " ‘U"'GJ U"""ﬂ
in 2nd line, write function name, like "h1(f,m,a)”, and put”’ in unkonown like: h1(",2,4),or h1(8,” ,4) or h1(8,2,”)

o .qpython/scripts3 ol Sl does & b)) 1S s, 4@\:..«3\ qpython3 C‘Uf S5 V'€‘<~ NUPREICI [Jee @M il

Ll olglesi) QJ o oS LS Sl sl

we can used hphysics in android with "qpython3 program” or python3 program

b‘phpyrﬂbw\uw@w)@bxbul‘cg

’ o ‘ English ‘ o ‘ osld) def
1 L PRI F=ma h1(f,m,a)
2 Lbsd) de ] v=4 h2(v,d,t)
3 Pzl @L...:J\ a=3% h3(a,v,t)
4 lidas) &8 ) dslne vy =vo+at h4(vz,a,t,v0)
5 23 o) & ) Aslre a::vot+%at2 h5(z,a,t,00)
6 3 tos) &S ) dsles U?:vg—&-Qam h6(vf,v0,a,z)
7 A bgaldl t=y/ 2 R7(t,h,9)
8 Al bsald) de v=+/2gh h8(v,g,h)
9 A})Fi Fif} & badl de vz—\/( T:&Jrz; 2gh h9(v,m1,m2,g,h)
10 5 LY Bl %’“2") h10(z,00, theta)
11 & 88V Bl t=2t0sin(®) h11(t,0,theta)
12 e & U"j’ T=Frxsin h12(t,f,r theta)
13 pledl & il T=FrXcost h13(t,f,rtheta)
14 o\jﬁ\ 0 Fixri—Fyxr,=0 h14(f1,f2,r1,r2)
15 S e 330 J=FAt h15(j.f,)
16 V})‘H e CLUV J=ps—p; h16(j,m1,m2,v1,02)

el o Enter ol ploadl 1 e 8axly 8,85 o5 dlos miliad) B 8 Lo’
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Gnuplot z=br 24.3
6L9 JA-'UJ )MA-H C):.M) g\:m ) nbwb AP I S O (}u}“ C\:.;‘y S5 CAL/ » gnuplot Qj.l; e CAL/

plot plasewly CM‘ ‘,...cJJ\ 24.3.1

il lee el 1L o)) e mliad) B S Bnter 5 e 51 o cslad) sy plot p )l oSS

plot sin(x)

Trange J.;Y\ plscl pa dad Lle b |7 (legdS” j 3Ll j JESNIPETEAIN | I P (\3)\“ U VRN INVR Ll )
.yrange J.;Y\)

set xrange [ —10:10]
set yrange [ —1:1]
plot sin(x)

2(,.“;” §>=:;J o.;\.h}

08 -

o [
061 [ [\ R
0atk e
0z [

06 | [ ‘ \ /
-08 -

2gnuplot :24.1 J&

¢ @bl pymadl o) el o il ol (ST S

. ylabel Wiy wlabel w31 plisanl; s LS,

set xrange [ —10:10]
set yrange [ —1:1]

set xlabel 'text her'
set ylabel 'text her'

plot sin (x)

s b s ji filledcurves Jas ¢ Jo) &5 logze ((Ladd W oagls u.i.u) with /:‘Y\g S v.vl}j‘ s e LSlas WS
(g g G"Uf" s C»b - 5,8 Ol ) impulses

set xrange [ —10:10]
set yrange [ —1:1]
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set xlabel 'texther'
set ylabel 'textgher'

plot sin(x) with filledcurves

lan 013 o Y e ) 35 S5 S 200
P U S LS L Aol oy ST sl ) Sy

set xrange [ —10:10]
set yrange [ —1:1]

set xlabel 'texther'
set ylabel 'textgher'
a(x) = sin(Xx)

b(x) = cos(x)

plot a(x) , b(x)

Bslas JSy .oy dnslyy B0 Dolan BLo| Sy ¢ b oo oy i o 3 LW Dslaed) o5 uic.@uj,a LSy
g WL c.;) o J\)JJ\ clows! LS (.5 plot fo o Ysledl CJ@ KY\ Jja.uJ\ u)) A r«l&)ﬁ Ll Jja.w u}
sz_;w ) s e eSS s

set label 'text' at 2,3.5

(olall el e 35 5 ol el o 2 asV) die G o) e temt S bl ity
?gw’ﬁjugdob*‘%fidaf

set title ‘'textyher'

o pstas il Ly 131y (Lol Ol ey bl (s ol 0LoL) Dl g5 e degall el png

set angles degrees

set angles radians

SBLI) 3] ptes)

o oy (gl Jpuoall i ol S saall Sl sy sl i Wl o, e ULl 3l Zogod) gV g
ool (320 3500l 52 S saally uoliall ST ULy sy ilally ass number.csv ks b e UL
. esv il =1s

set datafile separator

plot 'mass_number.csv ' using :($20) with lines

&\)si 3de pusang ol SNy €SV i) esv Cils & UL e sampe) oWl s al) bl Jﬂ\ Sad B
s e Sl g1 88 gl Gl iy Aol 5 Byme Sy (S o
mass number.csv ikl & $20 i sqenl) (Lais U LgnlsS” Sy ) using Ledsuias plot syl Jss L5J\..§\ B
S e L ) with Jarly cJptond) b sopell 3y e DV S Yol Lodle ptsiany alid) o LY
gl ilos sl Sy (B IS8 s Loy ol s Gl odn oS5 o ) limes L) o hase Lo
) with lines Yax Jlasl moms bl of oYy ¢ 3 o s Joo Dlan 5 dlss] S LS sl Je
el w1 e ST e J9Y1 OBl
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set

plot

datafile

'mass_number .

separator

csv '

'
s

u

'

:($20)/3 w1

‘;g;\r,)\45 s ¢ pms Sho Hlasl o5y Daaall s oS sue e (g v&J!gégngLbJ? j‘jy&
: plot e dsy [1:10] 4L sy Jydodl 310 IV 1 e Gpinall

plot

[1:10] 'mass_number .

csV u :($20) w 1

() 2l 827 5 ¢ JSIN 5all 820 genll o (Digig ) ) gl L)) B sl S ) 2T e

set datafile

plot

'mass_number .

Bp=[Mz—(Zmp+Nmy)]x931

separator

csv '

/

'

U i (($20) —((8$20),1.007825+($20—$27),1.008665)),931 |

w1

3000

:
3 PP T—
? L i
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3 7
5 2000 - i
H v
j 1500 |- / B
g o o B
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a 500 - e g
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20 4 60 80 100 120
Sl saal

binding :24.2 &

UJ{&H/&J}\M(JN\\M&%&.&)MU}cM\ﬁo—wplot.}wM\G&ﬁvj

plot

splot

for [j=1:3]1 sin(jyux)

Ay b s plot as

loop &zea ) &dldlly ‘,..wj\ Y

Ly 3ldl Bsladl 3 taad) ol g of B Sle o for dn ol S

XyuX—y,y with

line

splot s plasiasly o2 puacmall gt I 24.3.2

palette

: palette plasaul (,..M:,..J\ r.w)\ e Jl

loop :24.3 o



Gnuplot @UJ; 24.3 G ) Olisele 24

XEx-yy —

palette :24.4 S

sy eV B el i at 4] QAT 5 el s at b e pmBd plisenl pesed) )l e 5T Jles
Lol & (,.MJM C‘p}j at

splot 10,x with pm3d at b

splot X, x—y,y

splot x,x+y,y with pm3d at t

splot 10,x with pm3d at b, x,x—y,y, X,x+y,y with pm3d at t

d3pm :24.5 i

JENIE

splot sin(x) w pm3d

sin(x)

d3pm :24.6 Ji



i) lisele 24

s ol P pdsadl s e Y1 Sy ) Deindl Cistlly L) e oS0 s sy
A e ldly BSI pead meset ST ey sl s 5 Yy ek
thage ol
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